« Small control enclosure in aluminium with protective bumper bars
e Robust aluminium diecast enclosure body with front panel
* Transparent cover and handle set (optional)

Included in delivery:

Enclosure body with front frame and
fastening screws (2 or 4 pcs.).
Please order front panel separately

Commander 1

Technical data

Material:
DIN EN 1706 EN AC-AISi 12 (Fe)

Ingress protection:
IP 65 to EN 60529
(with transparent cover IP 54)

Impact resistance:
7 Joule to EN 60079-0 (enclosure body)

Painting:
powder coating

Colour:

body: RAL 7038, agate grey

front frame: RAL 7043, traffic grey B
special colour on request

Temperature range:

with PU (polyurethane) seal: -40°C to +90°C
with VMQ (silicone) seal: -60°C to +130°C
with CR seal: -40°C to +100°C

with transparent cover: -10°C to +50°C

25



Commander 1

Product range

Type Dimensions Enclosure Enclosure Weight 1 set single 1 set single Handling Handling frame
W xLxH (mm) without drilled for (kg) handle for handle for frame for forsideC+D
front panel attachment of side A+B sideC+D side A+B

handle, D D

without front A 2

panel AI]:[]B Cd;ho A@B c@n

9 3
13.05 230 x 100 x 128 13.05 00 00 2,17
13.07 260 x 160 x 108 13.07 00 00 2,14
13.08 360 x 160 x 108 13.08 00 00 2,73
13.09 560 x 160 x 108 13.09 00 00 5,39
13.10 230 x 200 x 128 13.10 00 00 13.10 10 00 3,10 13.34 00 01 13.34 00 01 13.34 10 01
13.11 230 x 200 x 198 13.11 00 00 13.11 10 00 4,10 13.34 00 01 13.34 00 01 13.34 10 01
13.12 230 x 330 x 128 13.12 00 00 13.12 10 00 4,20 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01
13.13 230 x 330 x 198 13.13 00 00 13.13 10 00 6,15 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01
13.14 230 x 400 x 128 13.14 00 00 13.14 10 00 5,30 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01
13.15 230 x 400 x 242 13.15 00 00 13.15 10 00 6,84 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01
13.16 230 x 600 x 128 13.16 00 00 13.16 10 00 6,55 13.34 00 05 13.34 00 01 13.34 16 02 13.34 16 01
13.17 230 x 280 x 130 13.17 00 00 13.17 10 00 4,00 13.34 00 02 13.34 00 01
13.20 310 x 400 x 128 13.20 00 00 13.20 10 00 6,39 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
13.21 310 x 400 x 198 13.21 00 00 13.21 10 00 8,22 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
13.22 310 x 600 x 128 13.22 00 00 13.22 10 00 9,72 13.34 00 05 13.34 00 02 13.34 22 02 13.34 22 01
13.23 310 x 600 x 198 13.23 00 00 13.23 10 00 10,30 13.34 00 05 13.34 00 02 13.34 22 02 13.34 22 01
13.24 310 x 400 x 244 13.24 00 00 13.24 10 00 8,70 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
13.25 310 x 400 x 158 13.25 00 00 13.25 10 00 7,09 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
Accessories
Type Front panel Mounting plate Transparent Transparent DIN rail Silicone seal
cover with cover with lock TS 35/7.5
knurled lock

13.05 10.01 30 05 10.01 10 14 10.06 14 29 10.05 10 15
13.07 10.01 30 07 10.01 10 11 10.06 14 24 10.05 13 07
13.08 10.01 30 08 10.01 10 12 10.06 14 25 10.05 13 08
13.09 10.01 30 09 10.01 10 13 10.06 14 26 10.05 13 09
13.10 10.01 30 10 10.01 10 15 13.33 10 10 13.33 10 20 10.06 14 30 10.05 13 10
13.11 10.01 30 10 10.01 10 15 13.33 10 10 13.33 10 20 10.06 14 30 10.05 13 10
13.12 10.01 30 12 10.01 10 17 13.33 12 10 13.33 12 20 10.06 14 32 10.05 13 12
13.13 10.01 30 12 10.01 10 17 13.33 12 10 13.33 12 20 10.06 14 32 10.05 13 12
13.14 10.01 30 14 10.01 10 18 13.33 14 10 13.33 14 20 10.06 14 27 10.05 13 14
13.15 10.01 30 14 10.01 10 18 13.33 14 10 13.33 14 20 10.06 14 27 10.05 13 14
13.16 10.01 30 16 10.01 10 19 10.06 14 28 10.05 13 16
13.17 10.01 30 17 10.01 10 16 10.06 14 31 10.05 13 17
13.20 10.01 30 20 10.01 10 20 13.33 20 10 13.33 20 20 10.06 14 27 10.05 13 20
13.21 10.01 30 20 10.01 10 20 13.33 20 10 13.33 20 20 10.06 14 27 10.05 13 20
13.22 10.01 30 22 10.01 10 21 13.33 22 10 13.33 22 20 10.06 14 28 10.05 13 22
13.23 10.01 30 22 10.01 10 21 13.33 22 10 13.33 22 20 10.06 14 28 10.05 13 22
13.24 10.01 30 20 10.01 10 20 13.33 20 10 13.33 20 20 10.06 14 27 10.05 13 20
13.25 10.01 30 20 10.01 10 20 13.33 20 10 13.33 20 20 10.06 14 27 10.05 13 20

Other accessories

10.02 70 43
10.02 20 01

26

External hinges unmounted
Internal hinges mounted



Coupling holes

for type

GT 48/2

GT 50/2 GT 60/2

GTK electronic GTN I

GT 80/2

13.05

13.07

13.08

13.09

13.10

13.11

13.12

13.13

13.14

13.15

13.16

13.17

13.20

13.21

13.22

13.23

13.24

13.25

Accessories

Commander 1

Turn bolt lock

Order No. Lock type

10.12 04 07 square 7 mm
10.12 04 08 square 8 mm
10.12 04 09 triangular 7 mm
10.12 04 10 triangular 8 mm
10.12 04 11 Daimler Benz
10.12 04 12 double ward
10.12 04 13 knob with lock

Please specify hinge side

Caution:

For use with turn bolt lock with external hinges:
silicone seal in the lower section and frame

N

Construction

NoOUR®WNR

. Handling frame
. Transparent cover

Front panel
Front panel seal

. Front frame
. Frame seal
. Enclosure body

27



Commander 1

Accessories front panel
Type Order No. A B IS
S §
N N
Fs £
L
s <
13.05 10.01 30 05 90.5 2205 80 210 5 A
D2 i =
0 |
3 | | |
I J | L\ Installation area
/
IR
@ L _ 1 _1e
| | I|
| |
| : t=1)
B | .
| | |
U I——,— | I_
)
80 e
mype Order No. A B c D E F < <
S
N4 NS
£ &S
& ¢
S <
A
13.07 10.01 30 07 251 151 205 140 240 - 220 120 £
13.08 10.01 30 08 351 151 305 140 340 - 320 120 ) c
1310 1001 30 10 1925 223 - 20 179 - 154 184 j%) "
13.11 10.01 30 10 1925 223 - 210 179 - 154 184 T ————————— ——— = T
13.12 10.01 30 12 320.5 2205 140 207 307 - 284 184 l@: | : %
13.13 10.01 30 12 320.5 2205 140 207 307 - 284 184 : : : -
c
13.14 10.01 30 14 389.5 219 140 207 377 - 354 184 ro- - - - - Ty T T T T T %
13.15 10.01 30 14 389.5 219 140 207 377 - 354 184 : | t=3 : E
DIN 74-Bm4 2
1317  10.01 30 17 272 222 - 208 258 - 234 184 Ii'_ _____ - __: ________ |
13.20 10.01 30 20 390.5 300.5 300 287 377 150 354 264 \ @ @_&
1321  10.01 30 20 390.5 300.5 300 287 377 150 354 264 Installation width %
13.24 10.01 30 20 390.5 300.5 300 287 377 150 354 264
13.25 10.01 30 20 390.5 300.5 300 287 377 150 354 264
Mype Order No. A B C D E F G I I
S
Nd NG
L L&
& &P
\s \&
13.09 10.01 30 09 551 151 505 140 540 - 175 516 120
13.16 10.01 30 16 590.5 2205 450 207 577 - 150 554 184
13.22 10.01 30 22 590.5 3005 450 287 577 150 150 554 264
13.23 10.01 30 22 590.5 300.5 450 287 577 150 150 554 264
=
g
|
2
Installation width )?‘9

28




Commander 1

Accessories

Handles
D A D A
A[]:[]B c__ho A@B o

Type. c & c 8 A B c
13.10  13.34 00 01 13.34 00 01 13.34 10 01 127 365 127
13.11  13.34 00 01 13.34 00 01 13.34 10 01 127 365 127
13.12  13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01 228 45 127
13.13  13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01 228 45 127
13.14  13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01 263 64 127
13.15 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01 263 64 127
13.16  13.34 00 05 13.34 00 01 13.34 16 02 13.34 16 01 450 64 127
13.17  13.34 00 02 13.34 00 01 209 365 127
13.20 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
13.21  13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
13.22  13.34 00 05 13.34 00 02 13.34 22 02 13.34 22 01 450 64 209
13.23  13.34 00 05 13.34 00 02 13.34 22 02 13.34 22 01 450 64 209
13.24 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
13.25 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209

Handle mounting A/B 38 62
9.5
©)] | @
fas)

|
Yo}
| 214 ©
S
' /
L] | T L 4
@ ® | N
= l - N
| | | .
\ N\ s /) © (|
~N_____-_-__[~ O
60
Handle mounting C/D 38 62
9.5
® ©) )
—r ¢ ©

L
|
| 14
|

©

|

|

I

|

|

|

I

|

I

:
©

60

“/
__
Q N

29



Commander 1

Accessories

Transparent cover
Transparent cover  Transparent cover  Transparent cover-dimensions

Type with knurled lock  with lock A B
13.10 13.33 10 10 13.33 10 20 190 220
13.11 13.33 10 10 13.33 10 20 190 220
13.12 13.33 12 10 13.33 12 20 310 220
13.13 13.33 12 10 13.33 12 20 310 220
13.14 13.33 14 10 13.33 14 20 390 220
13.15 13.33 14 10 13.33 14 20 390 220
13.20 13.33 20 10 13.33 20 20 390 300
13.21 13.33 20 10 13.33 20 20 390 300
13.22 13.33 22 10 13.33 22 20 590 300
13.23 13.33 22 10 13.33 22 20 590 300
13.24 13.33 20 10 13.33 20 20 390 300
13.25 13.33 20 10 13.33 20 20 390 300

®
[l [l
I | T
|
3 I 114
|
© ------ +4 - == — o ©®
|
0 s
LI)
1
A

External hinge Internal hinges,

Aluminium diecast hinges, stainless steel,

swivelling range approx. 150° swivelling range approx. 95°
Order No. 10.02 70 43 Order No. 10.02 20 01

30



Commander 1

Dimensions
Order No.
13.05 00 00
129 total height
@ ’I 1 93 38
100
20 20 1
T _lte
z : : : cylinder head screw
M6 x 25
| S|
| S
! |
ol of of
©gg8q----f2gqo ©F---+ +1it®
|
base 5 closed
| " front frame
,JL Y
|
—Be $ °
58 &
88 101 max. installation height
@
Order No. A B C D E
13.07 00 00 260 240 230 2175 2485
13.08 00 00 360 340 330 3175 3485
@ 109 total height
38
A ’l 1.
B 20
L | | ]
%{ | 6 Z/é cylinder head screw
| Ve M6 x 30
[ c — S %
9| o o
CEER L JEEICICE Irt - ®
™) l base
o | ®
\_M6 |
|
0 %
E | 88 max. installation height
-
Order No.
13.09 00 00

560

540

@)
160

109 total height

38
1 72
17.5,
22 cylinder head screw
— M6 x 30
N N
s
R L4 L
G ®
- ]

88

| S ——
max. installation height

31



Commander 1

Dimensions
Order No.
13.10 00 00
129 total height
@ 38
202 =
| 180
(& | ©
cylinder head screw
o | 1 N M6 x 30
170 I [~
o | '
|
OYHHY for -~ +---PBIO O 4r--- GO
8 I 13
|
L2 |
9| | base 4
Ay, | | 1
\_M6
| Il
! I
157 \Qo
189 108 .
max. installation height
-
Order No.
13.11 00 00
198 total height
®
202 ’l 1 162
180 19
[ , |
g L o N N B cylinder head screw
| i M6 x 30
170 | [~ S|
¥ |
|
f=!
oy frg-——*-—-—-Praf0 O©4F------1 SR R NG
®| | 14
M : base 5
—a¥ | ol 5]
M6
- L
158 | \Q
190 ¢ 176
max. installation height
-]
Order No. A B C D E F
13.12 00 00 120 129 92 13 4 112
13.13 00 00 - 199 163 15 6 176
B__ total height
® =
330 l
310
| \ ]
|
g | cylinder head screw
P | r- M6 x 30
300
& |
|
0| 0
Of8<d-1----- e 8@ ®@4--- 161 ®
| | D
I o E
| o) | base H
™\ _ue :
= + &
2855 ¢
3165 : F
. max. installation height
-

32




Commander 1

Dimensions
Order No. A B Cc D E
13.14 00 00 400 380 370 357 387
13.17 00 00 280 260 250 237 268
® 129 total height
A N
B
[ | I
& | cylinder head screw
I ] M6 x 30
c r
o T o
|
© A for + - - - - - Lo-—--%}830 ©/r---f {dt®
=i |
° | o 13
| 4
Lol base ®
[ e T
\_Mé |
1
D \’(
£ © | 108
‘l max. installation height
Order No.
13.15 00 00
243 total height
® 38
400 1
380
™ ) |
%{ | cylinder head screw
={ o | |_ | N M6 x 30
3 T T
|
© gel3l e {1 - - - - L - - — — biig* ®4+----- Lo idtte
e 9 I T 14
]
f : id 5.5
9| base Y
X | 2 I
M6
l L Vzzzz7rzzzzzzzzzzzzzzzzzs @m
J | &,
354.5 o
3845 2205
___l max. installation height
Order No.
13.16 00 00
129 total height
® =
£40 1 93 % 22
I 580 i 20 16
S i @ TETIITIA| | _
N 7772722727 27272 cylinder head screw
@f &7 | -] < M6 X 30
B 570 g N \
: M
©F &3] flof---f-oeemeeeee R lEg0 ©ff S 12 1 )
® Lo 14
B : — ®
I 6
base ' —
I ' o 1 o
\_M6 ; ] q
a /N i U
558 <,
586 106

max. installation height

33



Commander 1

Dimensions
Order No. C E G H
13.20 00 00 301 129 92 13 4.5
13.25 00 00 296.5 159 123 14 6
p total height
= 1 E
I_ 382.5 _I 20
Y £ i g
| | | cylinder head screw
— _ ~ M6 x 30
_T 370 I_ © o
b =
s
o]
Oalfo 19T~ 8@ ©fr---- SR R R)
Al e g
4 H O
base
-« 3 I
U \_M6 B
| L
T ,p,o
E
| max. installation height
]
Order No. [ E G
13.21 00 00 238 299 199 176
13.24 00 00 388.5 240 297.5 245 222
g total height
1 F
’I 38
20 .
7
g 2]
| Vs cylinder head screw
—T C - NE <3 O M6 x 30
T
M| of 9
2444 -4----r----- d® ©-H--- tHt®
=] 14
base § F
-~
'—@M
L
| ~ ] y
/0 | G
_I max. installation height
Order No. C E G
13.22 00 00 238 129 106
13.23 00 00 236 199 176
@ _I E total height
600
50 ;0 F 22
|
© R cylinder head screw
& 2zzize M6 x 30
570 N
T
ol o 2
EEE R LI E R rfree@ ©fr---t - ®
S 14
@
base 6
@
 — \_Mé
16' \ : I
A f E,
B o 1 G
__] max. installation height

34




« Small control enclosure in aluminium with front frame for
front panels and keypads

e Robust aluminium diecast enclosure body

+ Handle set (optional)

Included in delivery:

Enclosure body with two-part front frame,
enclosure and fastening screws (2 or 4 pcs.).
Please order front panel separately

Commander 1F

Technical data

Material:
DIN EN 1706 EN AC-AISi 12 (Fe)

Ingress protection:
IP 65 to EN 60529

Impact resistance:
7 Joule to EN 60079-0

Painting:

powder coating

Colour:

enclosure body: RAL 7038, agate grey
frame, top/base: RAL 7043, traffic grey B
special colour on request

Temperature range:

with PU (polyurethane) seal: -40°C to +90°C
with VMQ (silicone) seal: -60°C to +130°C
with CR seal: -40°C to +100°C

35



Commander 1F

Product range

Type Dimensions Enclosure Enclosure Weight 1 set single 1set single Handling frame Handling frame
W x LxH (mm) without dirlled for (kg) handle for handle for forside A+B forsideC+D
front panel attachment of side A+ B sideC+D

handle, D D A

without front A g

e A[]:[]a cf_Tho Al s c o

B
C 9

13.07 260 x 160 x 108 13.07 05 00 2,45
13.08 360 x 160 x 108 13.08 05 00 3,10
13.10 230 x 200 x 128 13.10 05 00 13.10 15 00 3,4 13.34 00 01 13.34 00 01 13.34 10 01
13.10 230 x 200 x 153 13.10 05 10 13.10 15 10 3,6 13.34 00 01 13.34 00 01 13.34 10 01
13.11 230 x 200 x 198 13.11 05 00 13.11 15 00 4,47 13.34 00 01 13.34 00 01 13.34 10 01
13.12 230 x 330 x 128 13.12 05 00 13.12 15 00 4,3 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01
13.12 230 x 330 x 153 13.12 05 10 13.12 15 10 4,5 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01
13.13 230 x 330 x 198 13.13 05 00 13.13 15 00 5,55 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01
13.14 230 x 400 x 128 13.14 05 00 13.14 15 00 4,58 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01
13.15 230 x 400 x 242 13.15 05 00 13.15 15 00 7,23 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01
13.17 230 x 280 x 130 13.17 05 00 13.17 15 00 3,40 13.34 00 02 13.34 00 01
13.20 310 x 400 x 128 13.20 05 00 13.20 15 00 6,00 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
13.21 310 x 400 x 198 13.21 05 00 13.21 15 00 7,50 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01
13.25 310 x 400 x 158 13.25 05 00 13.25 15 00 6,70 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01

Accessories

Type Front panel Mounting plate DIN rail Silicone seal
TS 35/7.5
13.07 10.01 32 07 10.01 10 11 10.06 14 24 10.05 13 07
13.08 10.01 32 08 10.01 10 12 10.06 14 25 10.05 13 08
13.10 10.01 32 10 10.01 10 15 10.06 14 30 10.05 13 10
13.10 10.01 32 10 10.01 10 15 10.06 14 30 10.05 13 10
13.11 10.01 32 10 10.01 10 15 10.06 14 30 10.05 13 10
13.12 10.01 32 12 10.01 10 17 10.06 14 32 10.05 13 12
13.12 10.01 32 12 10.01 10 17 10.06 14 32 10.05 13 12
13.13 10.01 32 12 10.01 10 17 10.06 14 32 10.05 13 12
13.14 10.01 32 14 10.01 10 18 10.06 14 27 10.05 13 14
13.15 10.01 32 14 10.01 10 18 10.06 14 27 10.05 13 14
13.17 10.01 32 17 10.01 10 16 10.06 14 31 10.05 13 17
13.20 10.01 32 20 10.01 10 20 10.06 14 27 10.05 13 20
13.21 10.01 32 20 10.01 10 20 10.06 14 27 10.05 13 20
13.25 10.01 32 20 10.01 10 20 10.06 14 27 10.05 13 20

Other accessories

10.02 70 43 External hinges unmounted
10.02 20 01 Internal hinges mounted (only for type 13.07 to 13.15)

36



Coupling holess

Commander 1F

for type GTK electronic GT 50/2 GT 60/2 GT 80/2
GT 48/2 GTNII
13.07 05 00 .
13.08 05 00 .
13.10 05 00 . -
13.10 05 10 . -
13.11 05 00 . . . .
13.12 05 00 . .
13.12 05 10 . .
13.13 05 00 . - . .
13.14 05 00 . -
13.15 05 00 . - . -
13.17 05 00 . .
13.20 05 00 . .
13.21 05 00 . . . .
13.25 05 00 . - . .
Accessories
Turn bolt lock
Order No. Lock type
10.12 04 07 square 7 mm
10.12 04 08 square 8 mm
10.12 04 09 triangular 7 mm
10.12 04 10 triangular 8 mm
10.12 04 11 Daimler Benz
10.12 04 12 double ward
10.12 04 13 knob with lock
Please specify hinge side
Caution:
For use with turn bolt lock with external hinges:
silicone seal in the lower section and frame. 25
Front panels
Type Order No. A B Installation Installation
width height A
13.07F 10.01 32 07 230 130 215 115 |
13.08F 10.01 32 08 330 130 315 115 |
13.10F 10.01 32 10 170 200 155 185 r——————- T ———————— T
13.11F 10.01 32 10 170 200 155 185 : | : £
13.12F  10.01 32 12 300 200 285 185 | | | g
13.13F  10.01 32 12 300 200 285 185 .- - - - - 1 15
13.14F 10.01 32 14 370 200 355 185 : | : 2
13.15F 10.01 32 14 370 200 355 185 | | t=3 | ,U‘E’
13.17F 10.01 32 17 251 201 235 185 | | | £
13.20F  10.01 32 20 375 284 359 268 T T T T T Ty T T T T T
13.21F  10.01 32 20 375 284 359 268 y
13.25F  10.01 32 20 375 284 359 268 Installation width

37



Commander 1F

Accessories

38

Handles
D A D A
A[D]B cd_ho A@B CQD
B
Type. [ [3 8 A B c
13.10F 13.34 00 01 13.34 00 01 13.34 10 01 127 365 127
13.11F 13.34 00 01 13.34 00 01 13.34 10 01 127 365 127
13.12F 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01 228 45 127
13.13F 13.34 00 03 13.34 00 01 13.34 12 02 13.34 12 01 228 45 127
13.14F 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01 263 64 127
13.15F 13.34 00 04 13.34 00 01 13.34 14 02 13.34 14 01 263 64 127
13.17F 13.34 00 02 13.34 00 01 209 365 127
13.20F 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
13.21F 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
13.25F 13.34 00 04 13.34 00 02 13.34 20 02 13.34 20 01 263 64 209
Handle mounting A/B 38 62
9.5
©] | ©
28]
|
T I T— ¢
|
|
1------F ||® -
[Te}
| 14 ©
| A%
| e f I
| Il
@ | (®) I .
\ | ]
o |1
AN s /| ©
~____”"_”-”"[~ O
60
Handle mounting C/D 38 62
9.5
1
® | @) ©
| i 214
|
__________ — LO (&)
. ® ’
| '/
| :l:y e [ |
Q 10)
T J ||
s 8 |1
S R @)
60



Accessories

External hinge
Aluminium-diecast hinges, swivelling range approx. 150°

Order No.: 10.02 70 43

Internal hinge (only for type 13.07 to 13.15)
stainless steel, swivelling range approx. 95°

Order No.: 10.02 20 01

Commander 1F

39



Commander 1F

Dimensions
Order No.
13.07 05 00
@ - 109.5 total height
260 17.5
240 27.5
[ . il
& | ® EE%\
| cylinder head screw
T_f 230 — - N M6 x 45
o
© Eg foff----1---- - TR | )
I base 4
&) | © l
' L/
T f )
2175 ‘\’0
2485 93.5 7
max. installation height
-]
Order No.
13.08 05 00
109.5 total height
275 12.5
N ==
cylinder head screw
M6 x 45
OEE S NG}
F
T |
3175 N 93.5 7
348.5 max. installation height
® -
Order No. A B C
13.10 05 00 1295 1135 275
13.10 05 10 153 137 51
® A total height
202 "I 17.6
180
g K -
|
— cylinder head screw
B 10!l [ M6 x 45
&) [ 3 (M6 x 70)
|
EEER CE R Y &= ®
@ |
@ I base ®
B I ®
| ®
% \_Mé6
I L
R Y
189 7
-] max. installation height '

40




Commander 1F

Dimensions
Order No.
13.11 05 00
198.5 total height
®
202 ,‘ 1 162 27.5 12.5
; 180 - 19
R N | ,
Egj | £ . _+ % EE%
| Vi cylinder
head screw
170 4 = o} E‘ N M6 x 45
® | s
|
oggy st f-+---*rg§0 ©OfF------1 S I XG)
* ' 14
: base ® 5
_"\ M6 | ® H
L s
T 1
158 \<P<o
190 1815 7
. - max. installation height
Order No. A B C D E F G
13.12 05 00 1295 92 275 1135 13 4 120
13.12 05 10 153 92 51 137 13 4 120
13.13 05 00 1995 163 275 1815 15 6 -
® _ A total height
3130 ' 1 8 C.. 17.5
310
| 300 I—{ 20 3
L |
| ‘@ T E%\ cylinder head screw
ﬁ@ | ——— @‘ M6 x 45
» u ~ - M6 x 70
| [_ I S| ;1 N ( x70
|
(& l | |
CE R R L efffo e4f---+ + it ©®
| E
¢ I base \d .
& | [®
gl [®
P e | f
| el
. : L
285.5 ©
3165 o 7
max. installation height
-
Order No. A B C D E
13.14 05 00 1295 92 1135 13
13.15 05 00 2435 207 226 14 5.5
@ = A total height
400 !
380 1 B 27.5 17.6
|_ 370 _|
|
Eﬁ | % cylinder head screw
M6 x 45
s l 187
| [~ I g
|
IS |
©ggY e -+ ---1------ et8¥® ®4+---+ +H ®
| - 8 - &
| D
& I base \d c
« | 4
Lo\ e | )4 [ F
: | e
: . L
354.5 ©
3845 ¢ 7
max. installation height
-

41



Commander 1F

Dimensions
Order No.
13.17 05 00
®
280 = 129.5 total height
260 | S D 275 o 178
r 250 . 20 |
f 4 e 2 See=s
iz
| ] % cylinder head screw
| _ - M6 x 45
| [ ° 2 I
- s
g
©8 83 - t1-------- —+3ze ©FH---4 4 (it ®
8 | N K
| base * 4
- ! b4 I=
M6 |
| ' N
237 ! VO
268 1135 7
max. installation height
-
Order No. A B C D E
13.20 05 00 1295 92 13 4.5 113
13.21 05 00 199.5 163 14 6 181.5
@ A total height
404 1 1 8 27.5 17.6
- 3825 - 20
| . | s
' e=n ) B -
T @_ ez cylinder head screw
r- N Q‘ N M6 x 45
370 ! s
! [
9 I P
b2l
q |
2Rt -4-F--L--—--Ptg¥0 ©F--- f ®
= | .
| 3
| base D
|
I e =
J_% M6 | I
B T =
390 E | 7
max. installation height
~
Order No.
13.25 05 00
@ ’I 159.6 total height
403 1 17.5
r - 1 adr
& | ¢ Voo, S = S
. U rrmrrrzrie: cylinder head screw
I r- ] 5 z _I \ M6 x 45
: 370 °
% |
3 I
o o q | ol o)
©S£ *- -7 """~ - 28 ®f------ i ®
N N
! 14
¥ |
| base _Ale
|
| | LM
| |
% : | — @
L 0 ]
3865 1415 N
_l max. installation height

42






